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PROBLEM IDENTIFICATION
	My invention clearly identifies
and addresses a real problem. 
	My invention somewhat identifies
and addresses a real problem.
	My invention does not identify
and address a real problem.

	GOOD USE OF GRAPHICS AND TEXT TO CLEARLY SHOW THE INFORMATION
	The website was excellent and included: Images of the invention, good contrasting text and background, clearly described the benefits of the invention.
	The website is OK but has poor contrast between text and image.  Website has too much text to be effective. Does not show  the invention clearly.
	Website is minimal and shows little effort.  Website does not address the benefits of the invention.

	SHARK TANK
PRESENTATION
	I was able to present easily and clearly about my invention including the benefits and pricing.  I am very enthusiastic about my product. 

	I was able to present  my invention but did not cover the benefits or pricing effectively. I was interested in my invention.
	I did not clearly explain  my invention. My presentation did not clearly show the benefits of the invention.  I was not interested in my invention


	DESIGN/CREATION OF INVENTION
	Time was used very effectively  creating a unique, creative and useful invention.  The design is clearly shown with graphics or models.

         
	Time was used well creating a useful invention.  The invention was not unique and the effort was average in making a good solution.


             

	The invention was not unique and showed little imagination or effort.  


            


	PRODUCT ANALYSIS
	The cost of producing the invention is  described in the website
	Pricing is discussed but not clearly described.
	Price is included without explanation.

	SAMPLE
CREATION
	A sample or model of the sample is created.
2 points
	A picture of the invention showing all details is shown.
1 point
	Picture is poor and lacks details.
0 points
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